Service Provider: Jigsaw Day Nursery Ltd

Programme Year: 2023/2024

Status: Active

Fee Options

Fee Type Name	Age Range	ELC/SAC	ECCE Available ?	Session Start Time	Session Finish Time	Incorporated Services?	Choose Incorporated Services	Additional Information	Hrs per Day	Days per Week	Hrs per Week	Full Fee	Fee (including ECCE - 3 Hours)	Effective From	Effective To
Full Time 7:30 to 5:45pm	1y - 6y	ELC	Yes	07:30	17:45	No			10.25	4	41	148	96.4	28/08/2023	25/08/202 4
Aftersch ool	4y - 13y	SAC	No	13:00	17:45	Yes	Transport		4.75	5	23.75	100		28/08/2023	30/06/202 4
Out of Term camps school age (8:00 to 13:00)/(13:00 to 17:45)	5y - 13y	SAC	No	08:00	13:00	No		Daily rate for half Day Camp morning or afternoon Camps available for school aged children for all holiday periods. Once camps are booked, 4 weeks notice are required to cancel this booking.	5	1	5	15		28/08/2023	25/08/202 4
Full Time 7:30 to 5:45pm	1y - 6y	ELC	Yes	07:30	17:45	No			10.25	5	51.25	185	120.5	28/08/2023	25/08/202 4
Full Time 7:30 to 5:45pm	1y - 6y	ELC	Yes	07:30	17:45	No			10.25	3	30.75	138	99.3	28/08/2023	25/08/202 4
Full Time 7:30 to 5:45pm	1y - 6y	ELC	Yes	07:30	17:45	No		Daily charge if a child books an	10.25	1	10.25	46	33.1	28/08/2023	25/08/202 4

								additional Ad hoc day							
Part time 1:00 to 5:45pm	1y - 6y	ELC	No	13:00	17:45	No		noc day	4.75	5	23.75	95	28/	/08/2023	25/08/202 4
Part time 1:00 to 5:45pm	1y - 6y	ELC	No	13:00	17:45	No		Daily charge if a child books an additional pm on an Ad hoc basis	4.75	1	4.75	25		/08/2023	25/08/202 4
Aftersch ool	4y - 13y	SAC	No	13:00	17:45	Yes	Transport		4.75	4	19	100	28/	/08/2023	30/06/202 4
Aftersch ool	4y - 13y	SAC	No	13:00	17:45	Yes	Transport		4.75	3	14.25	75	28,	/08/2023	30/06/202 4
Aftersch ool	4y - 13y	SAC	No	13:00	17:45	Yes	Transport	Daily charge if a child books an additional Ad hoc afterschool session	4.75	1	4.75	26		/08/2023	30/06/202 4
Out of Term camps school age (8:00 to 17:45)	5y - 13y	SAC	No	08:00	17:45	No		Camps available for school aged children for all holiday periods. Once camps are booked, 4 weeks notice are required to cancel this booking.	9.75	5	48.75	100	28/	/08/2023	25/08/202 4
Out of Term camps school age (8:00 to 17:45)	5y - 13y	SAC	No	08:00	17:45	No		Camps available for school aged children for all holiday periods. Once camps are booked, 4 weeks notice are required to cancel this booking.	9.75	4	39	100	28/	/08/2023	25/08/202 4

Out of Term camps school age (8:00 to 17:45)	5y - 13y	SAC	No	08:00	17:45	No	Camps available for school aged children for all holiday periods. Once camps are booked, 4 weeks notice are required to cancel this booking.	9.75	3	29.25	75	28/08/2023	25/08/202
Out of Term camps school age (8:00 to 17:45)	5y - 13y	SAC	No	08:00	17:45	No	camps available for school aged children for all holiday periods. Once camps are booked, 4 weeks notice are required to cancel this booking.	9.75	2	19.5	50	28/08/2023	25/08/202
Out of Term camps school age (8:00 to 17:45)	5y - 13y	SAC	No	08:00	17:45	No	Camps available for school aged children for all holiday periods. Once camps are booked, 4 weeks notice are required to cancel this booking.	9.75	1	9.75	25	28/08/2023	25/08/202 4
Out of Term camps Part Time (08:00- 13:00)	5y - 13y	SAC	No	08:00	13:00	No	Camps available for school aged children for all holiday periods. Once camps are booked, 4 weeks notice are required	5	5	25	60	28/08/2023	25/08/202 4

								to cancel this booking.							
Aftersch ool	4y - 13y	SAC	No	13:00	17:45	Yes	Transport		4.75	2	9.5	52		28/08/2023	
NON ECCE Session 9:00 am to 12pm	2y 8m - 6y	ELC	Yes	09:00	12:00	No			3	5	15	64.5	0	11/09/2023	30/06/202 4
ECCE Session 9:00 am to 12pm	2y 8m - 6y	ELC	Yes	09:00	12:00	No			3	5	15	0	0	11/09/2023	30/06/202 4
Full Time 7:30 to 1:00 pm	1y - 6y	ELC	Yes	07:30	13:00	No			5.5	5	27.5	100	35.5	11/09/2023	25/08/202 4
Full Time 7:30 to 1:00 pm	1у - бу	ELC	Yes	07:30	13:00	No		Daily charge if a child books an additional am session on an Ad hoc basis	5.5	1	5.5	25	12.1	11/09/2023	30/06/202 4

Fee Extras

Туре	Extras	Amount	Description	Additional Details/Conditions	Effective From	Effective To
Discount		5	5% weekly family discount for Afterschool children	5% weekly family discount for afterschool children (28/08/2023	30/06/2024
			attending 5 afternoons per week or 4 afternoons per	families with more than one child attending 5 or 4		
			week	afternoons) on a regular booking		
Deposit		100	Deposit for Afterschool child attending 5 or 4	Deposit is refunded when child finishes provided one	28/08/2023	30/06/2024
			afternoons per week	months' written notice is provided and all fees are paid		
				up to date. Child must be attending for 3 months or		
				more for the deposit to be refunded		
Discount		9.25	5% weekly family discount for children over 1	5% weekly family discount for children over 1 (28/08/2023	25/08/2024
			attending 5 full days	families with more than one child attending 5 full days)		
				on a regular booking		
Discount		7.4	5% weekly family discount for children over 1	5% weekly family discount for children over 1 (28/08/2023	25/08/2024
			attending 4 full days	families with more than one child attending 4 full days)		
				on a regular booking		
Discount		6.9	5% weekly family discount for children over 1	5% weekly family discount for children over 1 (28/08/2023	25/08/2024
			attending 3 full days	families with more than one child attending 5 full days)		
				on a regular booking		
Discount		5	5% weekly family discount for children over 1	5% weekly family discount for children over 1 (28/08/2023	25/08/2024
			attending 5 mornings	families with more than one child attending 5 mornings		
) on a regular booking		

Discount	4.75	5% weekly family discount for children over 1 attending 5 afternoons	5% weekly family discount for children over 1 (families with more than one child attending 5 afternoons) on a regular booking	28/08/2023	25/08/2024
Discount	3.75	5% family Discount for Afterschool children attending 3 afternoons per week	5% weekly family discount for aftereschool children (families with more than one child attending 3 afternoons) on a regular booking	28/08/2023	30/06/2024
Deposit	185	Deposit for Child over 1 attending 5 Full Days	Deposit is refunded when child finishes provided one months' written notice is provided and all fees are paid up to date. Child must be attending for 3 months or more for the deposit to be refunded	28/08/2023	25/08/2024
Deposit	148	Deposit for Child over 1 attending 4 Full Days	Deposit is refunded when child finishes provided one months' written notice is provided and all fees are paid up to date. Child must be attending for 3 months or more for the deposit to be refunded	28/08/2023	25/08/2024
Deposit	138	Deposit for Child over 1 attending 3 Full Days	Deposit is refunded when child finishes provided one months' written notice is provided and all fees are paid up to date. Child must be attending for 3 months or more for the deposit to be refunded	28/08/2023	25/08/2024
Deposit	100	Deposit for Child over 1 attending 5 mornings	Deposit is refunded when child finishes provided one months' written notice is provided and all fees are paid up to date. Child must be attending for 3 months or more for the deposit to be refunded	28/08/2023	25/08/2024
Deposit	95	Deposit for Child over 1 attending 5 afternoons	Deposit is refunded when child finishes provided one months' written notice is provided and all fees are paid up to date. Child must be attending for 3 months or more for the deposit to be refunded	28/08/2023	25/08/2024
Deposit	75	Deposit for Afterschool child attending 3 afternoons per week	Deposit is refunded when child finishes provided one months' written notice is provided and all fees are paid up to date. Child must be attending for 3 months or more for the deposit to be refunded	28/08/2023	30/06/2024
Deposit	52	Deposit for Afterschool child attending 2 afternoons per week	Deposit is refunded when child finishes provided one months' written notice is provided and all fees are paid up to date. Child must be attending for 3 months or more for the deposit to be refunded	28/08/2023	30/06/2024
Deposit	65	Deposit - ECCE only children	The ECCE deposit will be refunded once the child has commenced in Jigsaw and the child's registration is approved on the EY HIVE	28/08/2023	30/06/2024
N/A		N/A - there are no optional extras	WE DO NOT CHARGE OPTIONAL EXTRAS	11/09/2023	25/08/2024